Cost Accounting            QUIZ Chapter 15        Name ________________________________


1. Budgeted amounts for a support department will always exceed complete reciprocated costs for that department.     TRUE  or  FALSE

2. Benefits of the single-rate method include:

A.  the low cost of implementation

B.  fixed costs that are transformed into variable costs for user decision making

C.  signals regarding how variable and fixed costs behave differently

D.  information that leads to outsourcing decisions that benefit the organization as a whole

3. When budgeted cost-allocations rates are used:

A.  variations in actual usage by one division affect the costs allocated to other divisions

B.  the manager of the supplier division bears the risk of unfavorable cost variances

C.  user divisions pay for costs that exceed budgeted amounts

D.  user divisions pay for inefficiencies of the supplier department

4. Under the dual-rate cost-allocation method, when fixed costs are allocated based on actual usage then: 


A.  user-division managers are motivated to make accurate long-run usage forecasts.


B.  user-division managers can better plan for the short-run and for the long-run.


C.  the costs of unused capacity are highlighted.


D.  variations in one division’s usage affect another division’s allocation.

5. The direct allocation method:

A.  partially recognizes the services provided among support departments.

B.  is also referred to as the sequential method.

C.  is conceptually the most precise method.

D.  results in allocating only the support costs used by operating departments.

6. Which of the following is NOT one of the three methods of allocating support department costs to operating departments?


A.  direct method


B.  incremental method


C.  step-down method


D.  reciprocal method

7. Under the stand-alone method of allocating common costs:

A.  a ranking is used to allocate costs among the users.
B.  disputes can arise over who is the primary user.
C.  each party bears a proportionate share of the total costs in relation to their individual stand-alone costs.
D.  an incentive is created to be the first-ranked user.
Jake’s Battery Company has two service departments, Maintenance and Personnel. Maintenance Department costs of $160,000 are allocated on the basis of budgeted maintenance-hours. Personnel Department costs of $40,000 are allocated based on the number of employees. The costs of operating departments A and B are $80,000 and $120,000, respectively. Data on budgeted maintenance-hours and number of employees are as follows:

	
	Support Departments
	Production Departments

	
	Maintenance Department
	Personnel

Department
	A
	B

	Budgeted costs
	$160,000
	$40,000
	$80,000
	$120,000

	Budgeted maintenance-hours
	100
	400
	480
	320

	Number of employees
	20
	10
	80
	240


8.  Using the direct method, what amount of Maintenance Department costs will be allocated to Department B?


A.
$48,000


B.
$64,000


C.
$78,000


D.
$96,000

9.  Using the direct method, what amount of Personnel Department costs will be allocated to Department B?



A.
$10,000


B.
$16,000


C.
$24,000


D.
$30,000

10.  Using the step-down method, what amount of Maintenance Department cost will be allocated to Department B if 
the service department with the highest percentage of interdepartmental support service is allocated first?  (Round up)


A.
$32,000


B.
$42,667


C.
$57,334


D.
$64,000

1. Budgeted amounts for a support department will always exceed complete reciprocated costs for that department.     TRUE  or  FALSE


Complete reciprocated (artificial) costs always exceed budgeted amounts.

2. Benefits of the single-rate method include:

A.  the low cost of implementation

B.  fixed costs that are transformed into variable costs for user decision making

C.  signals regarding how variable and fixed costs behave differently

D.  information that leads to outsourcing decisions that benefit the organization as a whole

3. When budgeted cost-allocations rates are used:

A.  variations in actual usage by one division affect the costs allocated to other divisions

B.  the manager of the supplier division bears the risk of unfavorable cost variances

C.  user divisions pay for costs that exceed budgeted amounts

D.  user divisions pay for inefficiencies of the supplier department

4. Under the dual-rate cost-allocation method, when fixed costs are allocated based on actual usage then: 


A.  user-division managers are motivated to make accurate long-run usage forecasts.


B.  user-division managers can better plan for the short-run and for the long-run.


C.  the costs of unused capacity are highlighted.


D.  variations in one division’s usage affect another division’s allocation.

5. The direct allocation method:

A.  partially recognizes the services provided among support departments.

B.  is also referred to as the sequential method.

C.  is conceptually the most precise method.

D.  results in allocating only the support costs used by operating departments.

6. Which of the following is NOT one of the three methods of allocating support department costs to operating departments?


A.  direct method


B.  incremental method


C.  step-down method


D.  reciprocal method

7. Under the stand-alone method of allocating common costs:

A.  a ranking is used to allocate costs among the users

B.  disputes can arise over who is the primary user

C.  each party bears a proportionate share of the total costs in relation to their individual stand-alone costs

D.  an incentive is created to be the first-ranked user
Jake’s Battery Company has two service departments, Maintenance and Personnel. Maintenance Department costs of $160,000 are allocated on the basis of budgeted maintenance-hours. Personnel Department costs of $40,000 are allocated based on the number of employees. The costs of operating departments A and B are $80,000 and $120,000, respectively. Data on budgeted maintenance-hours and number of employees are as follows:

	
	Support Departments
	Production Departments

	
	Maintenance Department
	Personnel

Department
	A
	B

	Budgeted costs
	$160,000
	$40,000
	$80,000
	$120,000

	Budgeted maintenance-hours
	NA
	400
	480
	320

	Number of employees
	20
	NA
	80
	240


8.
Using the direct method, what amount of Maintenance Department costs will be allocated to Department B?


A.
$48,000


B.
$64,000


C.
$78,000


D.
$96,000


320/ (320 + 480) x $160,000 = $64,000

9.
Using the direct method, what amount of Personnel Department costs will be allocated to Department B?



A.
$10,000


B.
$16,000


C.
$24,000


D.
$30,000


240/320 x $40,000= $30,000

10.
Using the step-down method, what amount of Maintenance Department cost will be allocated to Department B if 
the service department with the highest percentage of interdepartmental support service is allocated first?  (Round up)


A.
$32,000


B.
$42,667


C.
$57,334


D.
$64,000


Maintenance provided to Personnel: 400 / (400 + 480 + 320) = .333


Personnel provided to Maintenance: 20 / (20 + 80 + 240) = .059


Maintenance provides the greatest amount of service to support departments, so it is allocated first.   
Dept B: 320/1,200 x $160,000 = $42,667
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